HKCEE (1990) POPULATION PROBLEMS AND SOLUTIONS

ai. Country A has more children 









(1)

· aii. Reasons:

· it is a LDC

· high BR

· lack of family planning
· traditional belief

· improved medical, nutrition
· decreasing infant mortality rate








(3)

bi. CountryB has more aged










(1)

· bii. Reasons:

· it is a DC
· lower birth rate & death rate
· better medical, services, sanitation, nutrition
=> longer life expectancy









(3)

d. population growth > resources => population problem: overpopulation

· - farmland:inadequate, overcultiation

· soil: poorer
· transport: insufficient
· social facilities: insufficient
· Education: lower
· Housing: overcrowded
· Result:

· less food supply -> malnutrition
· lower living standard

· low employment

· - low capital

· more rural-urban migration









(10)

a. Economic activity = primary + secondary + tertiary
Country B: DC
=> economic activity:secondary + tertiary

· Push factors in farms:

· Mechanization of farms -> less farmland

· less farm labour

· education level of farmers: higher

· unwilling to still behind -> go to city (process: rural=-urban migration)

· Push/Pull factors in cities:

· higher living standard

· greater demand for services
· more job opportunities
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HKCEE (1992) POPULATION

ai)










(4) 

  
Children
%
Aged
%

Sham Shui Po
Less
17
more
12

Tuen Mun
more
31
less
5

Reminder: Support the answer with data

aii) Population redistribution 







(7)

- Past: Sham Shui Po <- Tuen Mun

- Present: Sham Shui Po -> Tuen Mun

Reason: pull factors versus push factors


Tuen Mun = push factors
Sham Shui Po = pull factors

Nature
New town
Old urban district

Environment
Beter
Worse

Housing
Cheap, abundant
Old

Mobility
Higher, young couples
Low , aged

Age-group
Children, aged
aged

Process:suburbanization
bi. Sham Shui Po : 16.46%

     Tuen Mun: 7.29%
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· bii. Socio-economic problems:

· high dependency ratio = ageing problems

· high economic inactive group = economic burden

· create greater pressure on social facilities (hospital)


(4)

· ci. Reasons for taking census:

· provide update population information

· understand the future population trend
· make population forecast

· information for government planning

· for commercial, industrial, residential land use





(3)

· cii. How census can solve the socio-economic problems?

· population census can provide information about the population structure & distribution
· identify the socio-economic problems
( Reminder: Repeat the role of census)
-     plan the future, e.g. clinics


(3)

HKCEE (1993) POPULATION DISTRIBUTION

a. Concentration of population in A = favourable factors found
(8)

bii. Spare population in B =unfavourable factors found


(6)

(Reminder: opposite answers for dense and sparse population)


Region A
Region B

Physical Factors:



Location
Coastal, rivers
interior

Soil
Fertile,alluvial
Poorer since serious soil erosion

Relief
Lowland
Highland (plateau)

Climate
Mild (maritime)
Continental

Minerals
present
Abundant

Socio-economic Factors:



Transport
Good
Poor

History of development
Long
Short

Employment
Large
Little

Resultant human activities
Farming, industry, commercial
farming

Maritime & continental climate will be taught in the topic “climate” in F.5

bi. X = 2/km2
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ci. Y = 
111.42%
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cii. Population redistribution from A to C because of  government policy. 

· Socio-economic impacts:

· large population =  large labour

· nature of migrants who go to C: skilled

· help to exploit minerals (e.g. iron ore)

· -> develop industry -> create jobs

· How to attract people to settle? Develop communication
· Positive impacts:

· higher living standard

· regional/economic/social balance

· growth of cities
· Negative impacts:

· cultural conflict
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HKCEE (1994) POPULATION

ai. Marine population change:
 64.4%-65%





(2)

aii. Decrease in marine population 

Push factors on sea:

· Problems faced by fishermen: water pollution => less income  
· less people willing to be fishermen

· large capital investment

Pull factors on land:

· better jobs, more $
· live on land/houses







(5)

bi. The district is Shatin

(1)
You will learn more about new towns in the topic “housing” later

bii. High population growth because the district is an new town
Pull factors in the district:

· Environment: better 
· Facilities: good,  Social: schools, recreation: town hall

· land value: lower
· Job opportunities: commercial & industrial (not much) 
· Tansport: improved
· Government support

Reminder: Support the answers with examples.



(7)

ci. Area A = Wanchai
= early developed = problem: urban decay
· facilities: less
· density: high
· solution: urban renewal
· located next to CBD
· expansion of CBD transform the buildings into commercial builldings
(5)

cii. Area B = Sai Kung

location: far away

next to country parks -> development is being restricted

· push factors: lack of facilities, jobs, $
· adults move away leaving the aged behind

· process: depopulation



(4)

You will learn more in the topic “housing”

HKCEE (1995) POPULATION

ai. Age group 65 and over increased from 1981 to 1991 = ageing population

· Reasons: 

· improvement in medical, sanitation, services, nutrition
=> decrease in death rates, people live longer = long life expectancy
(5)

aii. Socio-economic impacts:

= high dependency  ratio

= more economic inactive group

= less labour = economic burden

- create pressure on social services, e.g. housing



(5)

· bi. Role of population pyramid:

· provide information about age & sex structures

· for future planning

·  e.g. schools, hospitals

(3)

bii. Comparison
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Sai Kung North
Tuen Mun

Children (0-14)
Less
More

Adults (15-64)
Less
More

Aged 
more
less

Reasons


Sai Kung North = push factors
Tuen Mun = pull factors

Nature
Old district
New town

Environment
Poor since old
Better

Housing
Old
Cheap, abundant

Mobility
Low since aged
High

Age-group
aged
Children, adults

· biii. Socio-economic problems in Sai Kung North

· age group : aged group

· Problem: ageing

· Labour: little -> farm abandonment

· Facilities: little = rural poverty (4)

HKCEE (1997) POPULATION REDISTRIBUTION

a. A = Y, B = Z, C= X
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b. large influx of young people = large population > resources 

=> population problem: overpopulation

· Economic problems

· great pressure on social facilities (medical/education/welfare)

· difficult to find jobs
Result: Environmental problem:pollution, disease


Lower living standard
Social problems

- more crime & conflict
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c. 
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Region A
Region B

Physical Factors:



Location
Coastal, rivers
interior

Soil
Fertile,alluvial
Poorer since serious soil erosion

Relief
Lowland
Highland (plateau)

Climate
Mild (maritime)
Continental

Minerals
present
Abundant

Socio-economic Factors:



Transport
Good
Poor

History of development
Long
Short

Employment
Large
Little

Resultant human activities
Farming, industry, commercial
farming

Maritime & continental climate will be taught in the topic “climate” in F.5

